SW 550 Final Exam
Multiple Choice
Identify the letter of the choice that best completes the statement or answers the question.

1.
A problem in evaluating goal attainment is

	a.
	official program goals are usually stated in insignificant terms.

	b.
	official program goals are often stated so vaguely that it is difficult to reach agreement about their operational definitions.

	c.
	unofficial goals may displace official goals.

	d.
	all of the above.

	e.
	only b and c are correct.



2.
When asking questionnaire items, the interviewer should

	a.
	summarize the respondent's answers so that they are more meaningful answers.

	b.
	give help on difficult questions.

	c.
	ask every question even if the respondent has apparently answered it already.

	d.
	skip questions that the respondent cannot answer and return to them at the end of the interview.

	e.
	react to a question after the respondent has answered to show interest



3.
If a field researcher wanted to learn a community organization's pattern of recruitment over time, the researcher might begin by interviewing a fairly recent recruit and asking who introduced that person to the organization. Then the researcher might interview the person named and ask who introduced that person to the community organization. This would be an example of

	a.
	snowball sampling.

	b.
	quota sampling.

	c.
	deviant cases sampling.

	d.
	systematic sampling.

	e.
	accidental sampling.



4.
Ethical obligations to one's colleagues in the scientific community

	a.
	require that technical shortcomings and failures of the study be revealed.

	b.
	allow the researcher to determine whether or not to report negative findings.

	c.
	encourage the researcher to always describe the findings as the product of a carefully preplanned analytical strategy.

	d.
	a and b only are correct.

	e.
	b and c only are correct.



5.
The Solomon four-group design

	a.
	combines the classical experimental design with the static-group comparison design.

	b.
	combines the classical experimental design with the posttest-only control group design.

	c.
	combines the static-group comparison design with the one-group pretest-posttest design.

	d.
	combines the classical experimental design with the pretest-only control group design.

	e.
	none of the above.



6.
Using Likert-type scale items, Professor Wong developed an index to assess job morale. Wong administered the index to 2,000 workers and found that 1-4 responses were missing on each of the items. Wong could

	a.
	assign the middle value to cases with missing data.

	b.
	assign values at random.

	c.
	analyze the cases that had missing data to interpret their meaning.

	d.
	exclude the cases that contained the missing data from the analysis.

	e.
	all of the above.



7.
Which of the following statements is NOT true about program evaluation?

	a.
	It can apply to many diverse research designs and methods.

	b.
	It can be used not only to assess the impact of human service programs but also to improve their implementation.

	c.
	It differs dramatically from most of the research done by social workers.

	d.
	It refers to the purpose of research more than to any particular research method.



8.
A practitioner conducts a single-case evaluation to test whether a recently developed intervention is effective in reducing antisocial behaviors by children in a residential facility. During the 20 days before implementing the new intervention, she observes between 15 and 17 antisocial behaviors each day. After implementing the intervention, she observes between 15 and 17 antisocial behaviors each day for 19 days, but then on the twentieth day no antisocial behaviors occur. She should conclude

	a.
	history is a plausible explanation for the improvement.

	b.
	the intervention clearly was effective.

	c.
	the improvement most likely was due to maturation.

	d.
	all of the above.

	e.
	none of the above.



9.
Assume that the following would be reasonable conversational questions/statements based on a respondent's previous statement about preferring to live on the streets. Which is/ are good probe(s)?

	a.
	"How do you mean living on the streets is better?"

	b.
	"How is living on the streets better?"

	c.
	"Tell me more about why living on the streets is better."

	d.
	"In what way is living on the streets better?"

	e.
	All of the above are good probes.



10.
If we wanted to determine whether states that did not pass the Equal Rights Amendment were more likely to enact laws distinguishing between men and women than were states that had passed the ERA, the unit of analysis would be

	a.
	the individual states.

	b.
	the individual acts of legislation.

	c.
	laws distinguishing between men and women.

	d.
	passage or nonpassage of the ERA.

	e.
	states that had not passed the ERA.



11.
Which of the following is an example of unobtrusive observation?

	a.
	self-report scales.

	b.
	self-monitoring.

	c.
	interviews.

	d.
	all of the above.

	e.
	none of the above.



12.
Which of the following statements is true about the need to critique research quality?

	a.
	Practitioners can rely on researchers to produce good studies, and therefore only have to know the results of those studies.

	b.
	If a research study gets published, practitioners can be assured that it is of high quality.

	c.
	Social work practitioners need to understand research methods so they can discriminate strong from weak studies and influence the value of the research produced in their agencies.

	d.
	Social work practitioners should have enough research expertise to point out flaws in the studies that attack social work or the welfare policies social workers advocate.

	e.
	Both c and d are true.



13.
A summary description of a given variable in a survey sample is called a

	a.
	confidence interval.

	b.
	statistic.

	c.
	variable.

	d.
	parameter.

	e.
	confidence level.



14.
Which of the following is NOT true regarding the feasibility of social work research studies?

	a.
	Ethical issues may require that the research be reformulated.

	b.
	Fiscal costs are easily underestimated.

	c.
	Unexpected obstacles often take up a great deal of time.

	d.
	Agency staff members are usually eager to support research studies.



15.
A theory is

	a.
	a systematic set of interrelated statements intended to explain something.

	b.
	a paradigm

	c.
	a hypothesis

	d.
	all of the above.



16.
The problem of an interaction between the testing and the experimental stimulus is handled by

	a.
	the Solomon four-group design.

	b.
	the posttest-only control group design.

	c.
	the classical experimental design.

	d.
	all of the above.

	e.
	a and b only are correct.



17.
Which of the following statements is/ are true regarding entering your first job as a professional social worker?

	a.
	You should disregard agency traditions.

	b.
	You should keep in mind that knowledge based on tradition and authority could be wrong, and seek evidence that might support or challenge that knowledge.

	c.
	You should disregard advice based on authority, even if the authority figure has a high level of training, credentials, and experience.

	d.
	All of the above are true.

	e.
	None of the above is true.



18.
Which of the following statements is/are true about evaluating program efficiency?

	a.
	All humanistic benefits can be represented accurately in monetary terms.

	b.
	Stakeholders might disagree about whether a particular benefit of a program is worth the extra cost.

	c.
	The efficiency of a program never bears upon its humanistic value.

	d.
	All of the above.

	e.
	None of the above.



19.
You are doing research on hospital personnel-orderlies, technicians, nurses, and doctors. You want to be sure you draw a sample that has cases in each of the personnel categories. You want to use probability sampling. An appropriate strategy would be

	a.
	simple random sampling.

	b.
	quota sampling.

	c.
	accidental sampling.

	d.
	cluster sampling.

	e.
	stratified sampling.



20.
Which of the following IS NOT an operational definition of marital satisfaction?

	a.
	whether or not identified by a therapist as having marital problems.

	b.
	a score on a scale measuring marital satisfaction.

	c.
	amount of marital unhappiness.

	d.
	number of derogatory statements made by spouses to each other.



21.
The variable "educational level" was measured as last year in school completed (that is, none, 1st, 2nd, 3rd, grades, and so on). It is, therefore, measured at the ________ level.

	a.
	ratio.

	b.
	nominal.

	c.
	interval.

	d.
	not enough information to decide.

	e.
	ordinal.



22.
Explanatory studies are designed to find answers to which of the following questions?

	a.
	Why are people's attitudes toward public welfare changing?

	b.
	Are people's attitudes toward public welfare changing?

	c.
	Who watches soap operas?

	d.
	All of the above.



23.
In order to avoid measurement error, it is a good idea to

	a.
	use unbiased wording.

	b.
	test out the instrument in a dry run with a few people in the target population

	c.
	use terms that subjects will understand.

	d.
	all of the above.



24.
Which of the following is NOT a characteristic of a cross-sectional study?

	a.
	It provides a means for studying a large variation in the population at the same point in time.

	b.
	It is conducted at only one point in time.

	c.
	It can be exploratory, descriptive, or explanatory.

	d.
	It concentrates on the changes that take place within a specific sample over a period of time.

	e.
	All of the above are characteristics of the cross-sectional study.



25.
Professor Winer sent a mail questionnaire to 2,000 subjects. Winer told subjects that their responses would be held in strict confidence. After the first mailing, the return rate was 50%. For a second mailing, Winer sent out

	a.
	500 questionnaires.

	b.
	2,000 questionnaires.

	c.
	1,000 questionnaires.

	d.
	50 questionnaires.

	e.
	100 questionnaires.



26.
Practitioners engaged in evidence-based practice will

	a.
	question things that are based on tradition or authority.

	b.
	track down evidence as an ongoing lifelong part of their practice.

	c.
	be critical thinkers.

	d.
	think for themselves as to the logic and evidence supporting what others may convey as practice wisdom.

	e.
	all of the above.



27.
In qualitative research the unstructured interview is used to

	a.
	minimize interviewer bias.

	b.
	gain an in-depth understanding of respondents' views, attitudes, values, and beliefs.

	c.
	obtain responses to close-ended questions.

	d.
	obtain easily tabulated data.

	e.
	control for factors that may affect the respondents' answers.



28.
In general, survey research is

	a.
	weak on reliability and weak on validity.

	b.
	weak on reliability and strong on validity.

	c.
	strong on reliability and strong on validity.

	d.
	Reliability and validity are not issues that concern researchers who use the survey technique.

	e.
	strong on reliability and weak on validity.



29.
A sampling interval of 5 was used to select a sample from a population of 1,000. How many elements are to be in the sample?

	a.
	5.

	b.
	200.

	c.
	100.

	d.
	1,000.

	e.
	50.



30.
A school social worker administered a self-esteem test to a group of 9th graders in September. During the school year the students received intensive social work intervention designed to improve their self-esteem. In May the self-esteem test was given again and the self-esteem scores improved. A major problem in this research is that the researcher failed to control for

	a.
	selection biases.

	b.
	history.

	c.
	maturation.

	d.
	testing.

	e.
	all of the above.



31.
A family preservation program director helps design a study that evaluates the effectiveness of her program to keep children living with their abusive parents by providing the families with daily home visits by social workers. She expects the evaluation to show a dramatic reduction in reported child abuse incidents. Instead, the results show an increase in reported child abuse incidents. The director then concludes that the program was undoubtedly effective, reasoning that there really could not possibly have been an increase in actual abuse due to her program, just an increase in reportage of abuse due to closer monitoring in the daily home visits. The director is committing the error of

	a.
	mystification.

	b.
	ex post facto hypothesizing.

	c.
	selective observation.

	d.
	premature closure of inquiry.

	e.
	illogical reasoning.



32.
Which of the following is LEAST suited to providing clear evidence about a causal relationship between the independent and dependent variables?

	a.
	posttest-only control group design.

	b.
	Solomon four-group design.

	c.
	classical experimental design.

	d.
	one-shot case study.

	e.
	All of the above are equally effective in providing evidence of a causal relationship.



33.
Scientific evidence should be based on

	a.
	the teachings of authoritative scientists.

	b.
	systematic and comprehensive observations.

	c.
	a large and diverse sample of observations.

	d.
	observations gathered in ways that seek to reduce the influence of researcher biases.

	e.
	b, c, and d only.



34.
A probabilistic explanation takes the form

	a.
	x is always y.

	b.
	x is never y.

	c.
	x tends to be y.

	d.
	x is y if a and b are true.

	e.
	None of the above is probabilistic.



35.
Which of the following statements is/are true about constructing qualitative measures?

	a.
	You should rely primarily on close-ended questions.

	b.
	Highly structured self-administered questionnaires are more desirable than interview guides.

	c.
	Interviews can range from completely unstructured, informal conversational interviews that use no measurement instruments to highly structured, standardized interviews in which interviewers must ask questions in the exact order and with the exact wording in which they are written out in advance.

	d.
	All of the above are true.

	e.
	a and b, only, are true.



36.
Which of the following statements is/are true about analyzing existing statistics?

	a.
	Existing statistics in official government documents can be presumed to be highly valid.

	b.
	Analyzing existing statistics removes the need to worry about units of analysis or the ecological fallacy.

	c.
	Existing statistics in official government documents can be presumed to be highly reliable.

	d.
	All of the above are true.

	e.
	None of the above is true.



37.
In a study in which a researcher examined major U.S. newspaper editorials that dealt with the topic of public welfare, the unit of analysis was

	a.
	public welfare.

	b.
	newspapers.

	c.
	newspaper editorials.

	d.
	major U.S. cities.

	e.
	welfare recipients.



38.
The statement "Wealthy countries should give aid to poorer countries" is a(n)

	a.
	theory.

	b.
	hypothesis.

	c.
	error in premature closure of inquiry.

	d.
	error in selective observation.

	e.
	value judgment.



39.
Professor Smith gave an exam on Monday. On Wednesday Smith gave the same class the same exam. Professor Smith was clearly interested in assessing the exam's

	a.
	precision.

	b.
	reliability.

	c.
	face validity.

	d.
	conceptualization.

	e.
	validity.



40.
Professor Duncan administered a questionnaire containing the following items:

Please tell me how you feel about your social worker on the following three items:

	valuable
	----:----:----:----:----
	worthless

	clean
	----:----:----:----:----
	dirty

	active
	----:----:----:----:----
	passive


Duncan was using a

	a.
	semantic differential scale.

	b.
	Thurstone scale.

	c.
	Guttman scale.

	d.
	Bogardus social distance scale.

	e.
	Likert scale.



41.
When a researcher is deciding from whom or what the information will be gathered, that researcher is dealing with which of the following stages of the research design process?

	a.
	purposes of research.

	b.
	time dimension.

	c.
	topics for research.

	d.
	units of analysis.

	e.
	motivations for research.



42.
An instrument is developed with the intent to measure whether the parenting skills of parents referred for child abuse or neglect improve after participation in a parenting education treatment program. The instrument is found to be valid when untreated parents referred for child abuse or neglect score much worse on it than model parents who are child therapists. Which of the following statements is/are true about the instrument?

	a.
	It appears to have known-groups validity.

	b.
	Because it is valid, it can be relied upon to detect whether small, subtle improvements occur in the parenting skills of the parents who participate in the program.

	c.
	It appears to have predictive validity.

	d.
	All of the above are true.

	e.
	None of the above is true.



43.
Which of the following statements CORRECTLY describe(s) the social research profession?

	a.
	Social researchers are humanly subjective.

	b.
	Social researchers can never be totally objective.

	c.
	Social researchers attempt to be value-free.

	d.
	Different scientists can and should arrive at the same results when they employ accepted research techniques and set personal values and views aside.

	e.
	All of the above.


Professor Perlman

Professor Perlman was interested in comparing two textbooks to determine whether one used more sexist language than the other. Perlman counted the number of times a gender reference appeared in each book.

44.
Professor Perlman was doing

	a.
	latent content coding.

	b.
	manifest content coding.

	c.
	quota sampling.

	d.
	a and c only are correct.

	e.
	b and c only are correct.



45.
Professor Perlman found that textbook A contained the word "he" 80 times, whereas textbook B contained it 20 times. In addition, textbook A used the word "chairman" 16 times, whereas textbook B used it only 4 times. Perlman was correct in concluding that

	a.
	textbook A was four times as sexist as textbook B.

	b.
	textbook B was one-fourth as sexist as textbook A.

	c.
	the words "he" and "chairman" appeared four times more in textbook A than in textbook B.

	d.
	all of the above.

	e.
	a and b only are correct.



46.
Stratifying a population prior to drawing a sample

	a.
	is most useful for studying a homogeneous population.

	b.
	generally occurs when the variables used to stratify are known to be associated with the dependent variable.

	c.
	eliminates the need for probability sampling.

	d.
	eliminates the need for simple random sampling.

	e.
	none of the above.



47.
For a causal relationship to exist there must be evidence

	a.
	of a relationship between variables.

	b.
	that one variable precedes the other in time.

	c.
	that a third variable did not cause the changes observed in the first two variables.

	d.
	all of the above.

	e.
	a and b only are correct.



48.
Ethical issues are distinguished from political issues in research in that

	a.
	ethics deals more with the substance of research.

	b.
	formal codes of accepted political conduct are not comparable to the codes of ethical conduct.

	c.
	ethics deals more with the use of research.

	d.
	politics deals more with the methods of research.

	e.
	all of the above.



49.
When names are removed from questionnaires and are replaced with identification numbers so that only the researcher can later link a response to a name, the researcher should tell the respondent that the information is

	a.
	anonymous.

	b.
	anonymous and confidential.

	c.
	confidential.

	d.
	harmless.

	e.
	none of the above.



50.
The expectation that increased education leads to a reduction in prejudice illustrates

	a.
	a relationship between variables.

	b.
	a hypothesis.

	c.
	the notion of causation.

	d.
	the associations that might logically be expected to exist between particular attributes of different variables.

	e.
	all of the above.



51.
Which of the following is NOT an advantage of the key informants approach to needs assessment?

	a.
	representativeness of sample.

	b.
	ease of attaining a sample.

	c.
	building connections with community resources.

	d.
	inexpensiveness of survey.



52.
Among the advantages of field research is that it

	a.
	produces definitive conclusions.

	b.
	yields precise descriptive statements about a large population.

	c.
	involves the uniform application of precise operational definitions.

	d.
	allows for the modification of research design.

	e.
	is an extremely reliable technique.



53.
A questionnaire contained the item "educational level completed" and responses of grade school, junior high school, high school, college, graduate degree, other. A researcher asked subjects to check the appropriate response. The researcher is using this question to measure

	a.
	validity.

	b.
	indirect observables.

	c.
	a nominal variable.

	d.
	constructs.

	e.
	direct observables.



54.
When the variable "religious affiliation" is classified as Protestant, Catholic, or Jewish, this variable has the important quality(ies) of being

	a.
	ratio scale.

	b.
	mutually exclusive.

	c.
	interchangeable.

	d.
	exhaustive.

	e.
	all of the above.



55.
In terms of probability theory, the standard error is valuable because

	a.
	it is an estimate of the parameter.

	b.
	it permits us to estimate the degree of error to be expected in a sample design.

	c.
	it indicates the extent to which the sample estimates will be distributed around the population parameter.

	d.
	a and b only are correct.

	e.
	b and c only are correct.



56.
Which of the following is/are illustrative of unobtrusive observations?

	a.
	examining the floor tiles at a museum to determine which exhibits are the most popular.

	b.
	examining the number of beer cans in the university garbage collections to determine beer consumption patterns.

	c.
	examining the wear on the tires of squad cars to determine the extent of police patrols.

	d.
	all of the above.

	e.
	a and c only are correct.



57.
Reviews of research on social work practice effectiveness show that

	a.
	all reviewers are equally pessimistic about social work practice effectiveness.

	b.
	we can assume that if social workers are well trained, then they will be effective

	c.
	we know what causes what.

	d.
	social work practice consists of interventions that have been well tested.

	e.
	there are doubts about the effectiveness of social work practice.



58.
A nominal definition

	a.
	is a statement that allows us to observe some entity.

	b.
	is a statement detailing what will be involved in measuring some entity.

	c.
	is a statement that assigns a definition to a concept.

	d.
	is a statement of the essential nature of some entity.

	e.
	none of the above.



59.
Suppose you instruct a couple to have a typical conversation while you observe them in your office. This would be an example of

	a.
	research reactivity.

	b.
	obtrusive observation.

	c.
	interval recording.

	d.
	unobtrusive observation.



60.
Which of the following statements is/ are true about the hypothesis: Intervention X is more effective than intervention Y in alleviating post-traumatic stress symptoms among female victims of childhood sexual abuse?

	a.
	Intervention X is a variable.

	b.
	Female is a variable.

	c.
	Type of intervention is an attribute.

	d.
	All of the above are true.

	e.
	None of the above is true.



61.
Which of the following is/ are true about the impact of managed care on program evaluation?

	a.
	It has reduced the pressure on programs to measure their outcomes.

	b.
	It has reduced the extent to which vested interests are involved in program evaluations.

	c.
	It is reduced the emphasis on program evaluation.

	d.
	All of the above are true.

	e.
	None of the above is true.



62.
Which of the following statements is/ are not true about social work practice models?

	a.
	One's orientation to a practice model can influence the way one chooses to conduct a research study.

	b.
	Distinctions between some models can become blurred over time.

	c.
	Some models expand over time, encompassing new areas of research findings and theory.

	d.
	All of the above are true.

	e.
	None of the above is true.



63.
Ethics in social research

	a.
	varies from one social research community to another.

	b.
	is defined as general agreements shared by researchers as to what is proper and improper in the conduct of scientific inquiry.

	c.
	stems from religious, political, and pragmatic sources, among others.

	d.
	may vary from one point in time to another.

	e.
	all of the above.



64.
Professor Hall was planning to do a field study of unemployed recent immigrants. Hall wanted to be sure that persons representing all different age, racial, and sex categories were included in the sample of unemployed recent immigrants. What kind of sampling scheme would you recommend?

	a.
	quota sampling.

	b.
	deviant cases.

	c.
	cluster sampling.

	d.
	snowball sampling.

	e.
	stratified sampling.



65.
A researcher discovers that in a particular city 10% of the households are headed by one person and that 90% of the families are husband-wife families. The researcher sends out interviewers and tells them to conduct 80 interviews. Ten percent of these interviews should be with families that are headed by one person and 90% with husband-wife families. This research is using

	a.
	quota sampling.

	b.
	accidental sampling.

	c.
	cluster sampling.

	d.
	stratified sampling.

	e.
	simple random sampling.



66.
Which of the following statements is/are true about carrying out experiments and quasi-experiments in social agencies?

	a.
	The control condition might be contaminated by interaction between clients in the experimental and control groups.

	b.
	The intervention being tested might not be implemented in the intended fashion.

	c.
	Reluctance by outside agencies to refer clients might hinder obtaining a sufficient sample size.

	d.
	Practitioners might violate the research protocol for case assignment to make sure that clients receive the intervention being evaluated.

	e.
	All of the above.



67.
Professor Jenner was interested in using Census Bureau data to examine the trend in unemployment rates in the United States. However, Jenner's definition of unemployment did not match the one used by the Census Bureau. Jenner was dealing with the issue of

	a.
	the ecological fallacy.

	b.
	verstehen.

	c.
	reliability.

	d.
	validity.

	e.
	ideal types.



68.
From existing theory and the research done by others, Professor Simon states that fathers' occupational status influences sons' income levels. In terms of the traditional model of science, Simon is

	a.
	operationalizing concepts.

	b.
	developing a theory.

	c.
	making observations.

	d.
	formulating a hypothesis.

	e.
	none of the above.



69.
Every kth element in a list is chosen for inclusion in the sample in

	a.
	disproportionate sampling.

	b.
	stratified sampling.

	c.
	systematic sampling.

	d.
	cluster sampling.

	e.
	simple random sampling.



70.
When selecting a comparison group in a quasi-experimental design, one should

	a.
	avoid the use of switching replications.

	b.
	use random assignment.

	c.
	select a group as similar as possible to the experimental group.

	d.
	select a group unlike the experimental group.



71.
An independent variable is

	a.
	a theoretical concept.

	b.
	a variable influencing other variables.

	c.
	a variable influenced by other variables.

	d.
	a set of attributes.

	e.
	either b or c, depending upon the variable.



72.
Descriptive studies do NOT

	a.
	tell why something occurred.

	b.
	use concepts.

	c.
	use operational definitions.

	d.
	study relationships between variables.

	e.
	Descriptive studies DO all of the above.



73.
In general, as sample size increases

	a.
	the standard error increases in size.

	b.
	the standard error decreases in size.

	c.
	the standard error stays constant.

	d.
	the standard error will remain the same regardless of changes in sample size.

	e.
	none of the above.



74.
A friend of yours, a senior, took the Graduate Record Exam in September and scored in the 99th percentile. In February your friend took the same exam over again. This time your friend scored in the 84th percentile. As a research methodology student, you told your friend that his/her lowered score was probably due to

	a.
	demoralization.

	b.
	statistical regression.

	c.
	testing.

	d.
	history.

	e.
	compensation rivalry.


Minnesota Survey of Opinions

The following items and Scoring scheme were taken from the Minnesota Survey of Opinions. The four items were part of an index designed to assess attitudes toward education. In the index

	
	SA = strongly agree, A = agree, U = undecided,

	
	D = disagree, and SD = strongly disagree

	
	

	(1)
	A man can learn more by working four years than by going to school,

	
	

	
	SA (5)     A (4)     U (3)     D (2)     SD (1)

	
	

	(2)
	The more education a man has the better he is able to enjoy life.

	
	

	
	SA (1)     A (2)     U (3)     D (4)     SD (5)

	
	

	(3)
	Education helps a person to use his leisure time to better advantage.

	
	

	
	SA (1)     A (2)     U (3)     D (4)     SD (5)

	
	

	(4)
	Education is of no help in getting a job today.

	
	

	
	SA (5)     A (4)     U (3)     D (2)     SD (1)



75.
The scoring scheme for the items in the Minnesota Survey of Opinions illustrates

	a.
	that item 1 is weighted 5 times items 2 and 3.

	b.
	that item 1 is weighted equally to item 4 only.

	c.
	that item 2 is weighted equally to item 3 only.

	d.
	all of the above.

	e.
	that all of the items are equally weighted.



76.
In looking over the responses given to the items in the Minnesota Survey of Opinions, you notice that a respondent checked "strongly agree" to all four items. As a methodologist, which of the following statements BEST describes your ideas about the respondent?

	a.
	The respondent is probably unsure about his or her feelings toward education.

	b.
	The respondent probably fell into a response set.

	c.
	The respondent must strongly agree with all the items.

	d.
	The respondent is a scale type 12.

	e.
	The respondent has a high opinion of education.



77.
Which of the following statements is/are true about questionnaires?

	a.
	Researchers can avoid the need for pretesting if they are very careful in the way they word questions.

	b.
	Because it is virtually impossible to avoid some mistakes in wording, questionnaires should be pretested in a dry run.

	c.
	When pretesting, the pretest sample should be very large.

	d.
	When pretesting your questionnaire, it's better to ask people to read through it looking for errors rather than to complete the questionnaire.

	e.
	b, c, and d are all true.



78.
Which of the following statements is NOT true about the utilization of program evaluation results?

	a.
	They are less likely to be used if they contradict deeply held beliefs.

	b.
	If the results are clear and have obvious policy implications, they will always be used.

	c.
	They are less likely to be used when they threaten vested interests.

	d.
	None of the above; all of the above are true.



79.
Social work research and practice

	a.
	both define and specify practical problems before attempting to solve them.

	b.
	both explore and select from alternative strategies.

	c.
	both a and b.

	d.
	follow different problem-solving processes.



80.
The specification of concepts in a scientific inquiry depends on

	a.
	real definitions.

	b.
	nominal, operational, and real definitions.

	c.
	operational and real definitions.

	d.
	nominal and real definitions.

	e.
	nominal and operational definitions.



81.
Techniques used to create reliable measures include

	a.
	using measures that have proven their reliability in previous research.

	b.
	asking for the same information more than once.

	c.
	asking only about things respondents are likely to know the answer to.

	d.
	asking about things relevant to respondents.

	e.
	all of the above.



82.
A study that attempts to maximize precision and objectivity in testing whether an intervention reduces an undesirable behavior is being guided by what paradigm?

	a.
	critical social science.

	b.
	postmodernism.

	c.
	positivism.

	d.
	interpretivism.



83.
Suppose our research methods cause the client to improve. This would be termed

	a.
	generalization of effects.

	b.
	unobtrusive observation.

	c.
	reactivity.

	d.
	social-desirability bias.



84.
If we find that rates of behavioral disorder are lower among children who are more active in sports, then we have found what type of relationship?

	a.
	negative.

	b.
	curvilinear.

	c.
	causal.

	d.
	positive.



85.
Which of the following is/ are out of sequence in the procedure recommended for interviewer training?

	a.
	Conduct demonstration interviews.

	b.
	Discuss general guidelines and procedures.

	c.
	Make sure the interviewers fully understand the set of specifications, as well as each individual question in the questionnaire.

	d.
	Describe what the study is about

	e.
	All of the above are in the proper sequence.



86.
When we use a non-equivalent dependent variable in a non-equivalent comparison group design, we

	a.
	add a dependent variable that we think is likely to be affected by history or maturation in the same way that our main dependent variable would be affected by history or maturation.

	b.
	add a dependent variable that we expect to change because of treatment.

	c.
	reduce the internal validity of our design.

	d.
	all of the above.



87.
To avoid or alleviate practical pitfalls when carrying out experiments in social work agencies, researchers should

	a.
	avoid developing or using treatment manuals for the experimental or control conditions.

	b.
	keep research staff members away from program staff during the study.

	c.
	exclude agency staff members from the research planning phase.

	d.
	refrain from recruiting clients on an ongoing basis throughout the study.

	e.
	none of the above



88.
When attempting to construct culturally sensitive instruments when some research subjects don't speak English well, researchers should

	a.
	use bilingual interviewers.

	b.
	pretest the measures.

	c.
	translate measures into the language of respondents.

	d.
	use back-translation.

	e.
	all of the above.



89.
In order to ensure that experimental and control groups are similar before the experiment begins, social scientists sometimes

	a.
	pair subjects who are identical on relevant variables and assign one to the control group and one to the experimental group.

	b.
	create groups that are equivalent in terms of their averages on some relevant variables.

	c.
	assign subjects randomly to the experimental and control groups.

	d.
	all of the above.

	e.
	none of the above.



90.
Which of the following statements is/are INCORRECT?

	a.
	Close-ended questions should have response categories that are mutually exclusive and exhaustive.

	b.
	Close-ended questions should limit respondents to three or four choices.

	c.
	Close-ended questions should provide uniformity of response.

	d.
	Close-ended questions should cover the range of likely responses.

	e.
	All of the above are correct.



91.
Believing that there are only multiple subjective realities, and questioning the existence of an objective external reality, is associated with what view of reality?

	a.
	submodern.

	b.
	postmodern.

	c.
	premodern.

	d.
	modern.



92.
The real and observable things that give evidence of the presence or absence of the concept being studied are called

	a.
	concepts.

	b.
	definitions.

	c.
	indicators.

	d.
	dimensions

	e.
	measures.



93.
After examining the FBI Crime Reports for a 30-year period, Professor Hall claimed that the incidence of rape has increased. After examining the same reports, Professor Shine claimed that the reporting of rape, not the incidence of rape, has increased. This illustrates

	a.
	the need to replicate existing statistics.

	b.
	the problem of reliability in using existing statistics.

	c.
	the ecological fallacy.

	d.
	the problem of validity in using existing statistics.

	e.
	all of the above.



94.
The ethical dilemma of social science research

	a.
	is not a problem in most research.

	b.
	has no absolute right or wrong answers.

	c.
	means that researchers have the right to pursue knowledge at all costs.

	d.
	means that participants' rights will be violated in order to continue research.

	e.
	should preclude the possibility of any more research.



95.
A study reported in Social Forces (1981)was entitled "Determinants of Migration." The dependent variable was

	a.
	determinants.

	b.
	migration.

	c.
	either a or b, depending on the researcher's theory.

	d.
	impossible to identify from the title.

	e.
	none of the above.



96.
If a researcher wanted to know why there was a noticeable increase in the number of reported incidents of child abuse in the town of Southpaw during 1985, the researcher would design

	a.
	a longitudinal study.

	b.
	a trend study.

	c.
	an exploratory study.

	d.
	a descriptive study.

	e.
	an explanatory study.



97.
Assume that the following would be reasonable conversational questions/statements based on a subject's previous statement. Which is the best probe?

	a.
	"In what ways is that a better job?"

	b.
	"How do you mean that's a better job?"

	c.
	"Tell me more about why that's a better job."

	d.
	"How is that a better job?"

	e.
	All of the above are equally good probes.



98.
Professor Lum asked respondents, "How old are you?" Later in the interview Lum asked, "What is your date of birth?" This illustrates that Lum was interested in the ________ of the measurement.

	a.
	face validity.

	b.
	validity.

	c.
	precision.

	d.
	reliability.

	e.
	a and b only are correct.



99.
Which of the following statements is/ are true regarding practice effectiveness?

	a.
	Social work practice consists largely of interventions and procedures that have not yet received adequate testing.

	b.
	It is safe to assume that well-trained social workers will be effective regardless of which interventions they employ.

	c.
	Knowledge of research methods and knowledge of practice are separate and unrelated.

	d.
	All of the above are true.

	e.
	None of the above is true.



100.
When a researcher is selecting items for a composite index, which of the following should be kept in mind?

	a.
	Each item should have face validity.

	b.
	A composite measure should be unidimensional.

	c.
	There should be concern about the amount of variance provided by the items.

	d.
	All of the above.

	e.
	a and b only are correct.



101.
Which of the following is NOT a disadvantage of the community survey or target group survey approach to needs assessment?

	a.
	time and expense.

	b.
	It is one of the least direct ways to assess needs.

	c.
	measurement biases.

	d.
	possibly low response rates.



102.
In which of the following analyses is content analysis least likely to be useful?

	a.
	topics covered in class lectures.

	b.
	the wording of this exam.

	c.
	the theme of love as discussed in song.

	d.
	themes in newspaper editorials.

	e.
	dating patterns among high school seniors.



103.
An advantage of qualitative research is that

	a.
	it enables the researcher to draw conclusions about the population.

	b.
	the researcher can control the variables under study.

	c.
	hypotheses can be rigorously tested.

	d.
	social life can be studied in a natural setting.

	e.
	all of the above.



104.
A practitioner tests whether a new technique will be effective in reducing the number of time-outs required in play therapy sessions for children with conduct disorders. In each of the two sessions before implementing the new technique, five time-outs occurred. In each of the two sessions after implementing the new technique, no time-outs occurred. The practitioner should conclude:

	a.
	the technique clearly was effective.

	b.
	there were a sufficient number of data points in the study.

	c.
	history can be ruled out as an alternative explanation for the improvement.

	d.
	all of the above.

	e.
	none of the above.



105.
Qualitative methods:

	a.
	cannot be combined with quantitative methods in the same study.

	b.
	emphasize deeper meanings.

	c.
	eschew objectivity entirely.

	d.
	emphasize precise, probabilistic findings.



106.
Which of the following strategies is/are recommended for enhancing the rigor of qualitative studies?

	a.
	triangulation.

	b.
	prolonged engagement.

	c.
	negative case analysis.

	d.
	leaving a paper trail for auditing.

	e.
	all of the above.


Diagrammed Design

Assume that you have developed a study technique that you believe will result in students scoring higher on research methods exams. You test your study technique with the design diagrammed below.

R = random assignment

0 = observation

X = stimulus

	R
	01
	X
	02

	R
	03
	
	04



107.
The Diagrammed Design

	a.
	treats 0 as the new teaching technique.

	b.
	treats X as the scores on the research methods exam.

	c.
	treats 0 as the old teaching technique.

	d.
	none of the above.



108.
Using the Diagrammed Design, what predictions will you make?

	a.
	02 should be greater than 01.

	b.
	02 should be greater than 04.

	c.
	04 should be greater than 03.

	d.
	all of the above.

	e.
	a and b only are correct.



109.
Which of the following is a probabilistic statement?

	a.
	When serving as jurors. women do not vote for acquittal.

	b.
	When serving as jurors, women never vote for acquittal.

	c.
	When serving as jurors, women always vote for acquittal.

	d.
	When serving as jurors, women tend to vote for acquittal.

	e.
	None of the above.



110.
You want to examine the relationship between family size and family cohesion. You use as your sample all the students in this research methods class. What kind of sampling design are you using?

	a.
	simple random sampling.

	b.
	quota sampling.

	c.
	cluster sampling.

	d.
	stratified sampling.

	e.
	available sampling.



111.
Professor Myth asked respondents whether or not they had ever been divorced. One year later Professor Myth asked respondents the same question. Myth found that with repeated applications of the measure, different responses were obtained for the same subject. This means that the measuring instrument was

	a.
	unreliable.

	b.
	invalid.

	c.
	unreliable or the value on the variable had changed.

	d.
	lacking in face validity.

	e.
	a and b only are correct.



112.
Which of the following best illustrates the idiographic model?

	a.
	A study of one client, seeking to understand the causes of the client's problems and what is effective in helping the client.

	b.
	Quantitative studies using graphs of population trends.

	c.
	Studies that reject the idea of determinism.

	d.
	A study of 200 clients, seeking to generalize about whether ethnicity is related to premature termination of services.



113.
The use of inappropriate units of analysis may be called

	a.
	ecological fallacy.

	b.
	reductionism.

	c.
	aggregating.

	d.
	conceptualization.

	e.
	a and b only are correct.



114.
Probability samples are advantageous to the researcher because

	a.
	the method by which they are selected limits conscious and unconscious sampling bias.

	b.
	the accuracy or representativeness of the sample can be estimated.

	c.
	they are perfectly representative of the population from which they are drawn.

	d.
	all of the above.

	e.
	a and b only are correct.



115.
Suppose you obtained the following results in a multiple baseline design assessing the impact of family therapy on tantrums, chores, and truancy in treating one child and his parents. Which interpretation(s) is/ are plausible?
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	a.
	The intervention may have had generalizable effects.

	b.
	History could have caused the change.

	c.
	Both of the above.

	d.
	None of the above.



116.
Which of the following is NOT an aim of social work research?

	a.
	To provide practical knowledge to guide social work practice.

	b.
	To produce knowledge for knowledge's sake.

	c.
	To provide information needed to alleviate human suffering and promote social welfare

	d.
	None of the above; all of the above are aims of social work research.



117.
Qualitative research is especially effective for

	a.
	descriptive research.

	b.
	meeting the scientific norm of generalizability.

	c.
	meeting the scientific norm of intersubjectivity.

	d.
	examining social processes over time.

	e.
	all of the above.



118.
Unobtrusive measures can reduce the problem of

	a.
	unreliable measurements.

	b.
	invalid operationalization of concepts.

	c.
	the researcher's impact on the phenomenon being studied.

	d.
	all of the above.

	e.
	none of the above.



119.
An instrumentation effect occurs when

	a.
	the instrument employed for the pretest has an effect that shows up on the posttest.

	b.
	the measurement instrument is changed from the pretest to the posttest.

	c.
	there is a change on the dependent variable from the pretest score to the posttest score.

	d.
	all of the above.

	e.
	a and b only are correct.



120.
The questionnaire item "Which is not a serious problem in the U.S. today, anomie or the socialization of the young?" violates which of the following guidelines?

	a.
	Avoid meaningful questions.

	b.
	Avoid double-barreled questions.

	c.
	Avoid short items.

	d.
	Avoid leading the respondent.

	e.
	Avoid negative items.



121.
Measuring how practitioners feel about working with minority clients when you really want to know how well informed they are about cross-cultural practice is a problem of operationalization concerning

	a.
	the degree of precision needed between extremes.

	b.
	the relevant range of variations.

	c.
	how observations are going to be made.

	d.
	the use of single or multiple indicators.

	e.
	the specific dimensions of the variable to be studied.



122.
An example of the participant-as-observer includes

	a.
	being a newspaper reporter who interviews union workers to learn about recent strike efforts.

	b.
	telling people you're a spy to find out how they react.

	c.
	joining a sorority or fraternity to study initiation rituals without revealing your identity as a researcher.

	d.
	telling a motorcycle gang that you are a researcher and would like to ride with them for a year to understand their interaction patterns.

	e.
	all of the above.



123.
Suppose an ABCD design obtains the following results with a chronically mentally ill client discharged to live with his family.
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What is the most appropriate inference for future interventions with similar clients?

	a.
	Just provide the family education.

	b.
	Provide all three interventions in the same order.

	c.
	Replicate the study to assess possible order effects.

	d.
	None of the above.



124.
The primary function of the probe is to

	a.
	loosen up the respondent.

	b.
	indicate an understanding and interest in the respondent.

	c.
	get the correct answer from the respondent.

	d.
	get the respondent to answer a question more fully.

	e.
	all of the above.



125.
Which of the following statements is true about research utilization and social work practice

	a.
	Whether or not social work practitioners bother to keep abreast of research findings on which interventions are the most effective for their clients has no bearing on how compassionate those social workers are.

	b.
	Whether or not social work practitioners bother to keep abreast of research findings on which interventions are the most effective for their clients has no bearing on how professionally ethical those social workers are.

	c.
	Whether or not social work practitioners bother to keep abreast of research findings on which interventions are the most effective for their clients has no bearing on social work values.

	d.
	All of the above are true.

	e.
	None of the above is true.



126.
Which of the following is a nominal variable?

	a.
	employment status.

	b.
	education

	c.
	age.

	d.
	none of the above.

	e.
	not enough information to know.



127.
Which of the following statements is/ are true about the dilemma involving the right to receive services versus the responsibility to evaluate service effectiveness?

	a.
	No professionals question the ethics of providing untested services, as long as we have good intentions.

	b.
	This is not really a dilemma, since no conflict in values is involved.

	c.
	All professionals agree that services should never be delayed, even if their effects have not yet been verified.

	d.
	All of the above are true.

	e.
	None of the above is true.



128.
Nonprobability sampling

	a.
	always produces samples that possess distorted characteristics relative to the population.

	b.
	should never be used under any circumstances.

	c.
	denies the researcher the use of statistical theory to estimate the probability of correct inferences.

	d.
	all of the above.

	e.
	none of the above.



129.
Which of the following statements is/are true about the qualitative perspective on operational definitions?

	a.
	We may not know the most salient variables before we implement the study.

	b.
	Specifying variables only in terms of observable indicators is superficial.

	c.
	We may not understand the variables well enough in advance to anticipate the best way to operationally define them.

	d.
	All of the above are true about the qualitative perspective.

	e.
	None of the above is true about the qualitative perspective.



130.
Which of the following statements is true about focus groups?

	a.
	The data that emerge are likely to be less voluminous and more systematic than structured survey data.

	b.
	The group dynamics may bring out information that may not have emerged in individual interviews.

	c.
	Representativeness is a common strength of this method.

	d.
	The larger the number of participants, the better.

	e.
	All of the above.



131.
Evidence-based practitioners will

	a.
	assume that the published studies they find are scientifically valid.

	b.
	use research methods to evaluate whether the evidence-based actions they take are resulting in the outcomes they seek to achieve.

	c.
	assume that evidence on practice effectiveness will find its way to them.

	d.
	all of the above are true.

	e.
	none of the above is true.



132.
Which of the following statements is/are FALSE about the research process?

	a.
	There is often movement back and forth across beginning phases.

	b.
	The process ends when a particular study is completed.

	c.
	Both a and b are false.

	d.
	Neither a nor b is false.



133.
A frame of reference for interpreting the world is referred to as a:

	a.
	paradigm.

	b.
	theory.

	c.
	hypothesis.

	d.
	law.

	e.
	concept.



134.
In deciding what to measure in a single-case experiment, it is usually best to

	a.
	pick something implied by how the clinical goal was operationally defined.

	b.
	measure more than one thing.

	c.
	choose a behavior that is more frequent over one that occurs very rarely.

	d.
	all of the above.



135.
Which of the following statements is/are true about historical/comparative analysis?

	a.
	It is comparative in that it seeks to discover common patterns that recur in different times and places.

	b.
	Primary sources for raw data might include old letters, diaries, or lectures.

	c.
	Even official government records might be biased.

	d.
	Flaws might exist in both primary as well as secondary sources.

	e.
	All of the above are true.



136.
Which of the following statements is/ are TRUE about selecting a research question?

	a.
	The selection should be based exclusively on the researcher's personal curiosity.

	b.
	The question should pass the "so what" test.

	c.
	Reading the research literature on the topic should be put off until after the research question is finalized.

	d.
	All of the above statements are true.

	e.
	None of the above statements is true.



137.
Our attempts to learn about the world we live in come from

	a.
	authority.

	b.
	tradition.

	c.
	direct experience.

	d.
	direct, personal inquiry.

	e.
	all of the above.



138.
Random digit dialing refers to

	a.
	selecting numbers at random from the telephone directory.

	b.
	drawing a random sample of telephone numbers.

	c.
	drawing a random sample of telephone subscribers.

	d.
	dialing a telephone with your eyes shut.

	e.
	none of the above.



139.
Which of the following is a weakness of qualitative research?

	a.
	The conclusions drawn are suggestive rather than definitive.

	b.
	It is weak in terms of the scientific norm of intersubjectivity.

	c.
	It is weak on generalizability.

	d.
	All of the above.



140.
Suppose you obtained the following results in an ABAB design assessing the effectiveness of family therapy in reducing a child's temper tantrums. Which interpretation(s) is/ are plausible?
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	a.
	History could have caused the change.

	b.
	The intervention may have been effective, but with irreversible effects.

	c.
	Both of the above.

	d.
	None of the above.



141.
Reliability involves

	a.
	whether a particular technique applied repeatedly to the same object would yield the same results each time.

	b.
	ensuring that your measure measures what you think it should measure.

	c.
	ensuring precision.

	d.
	ensuring accuracy.

	e.
	all of the above.



142.
Which of the following statements is/ are true about the scientific method?

	a.
	Good studies need NOT be replicated.

	b.
	Some things are NOT open to question.

	c.
	All knowledge is considered provisional.

	d.
	All of the above are true.

	e.
	None of the above is true.



143.
Which of the following is NOT an attribute of a good research question?

	a.
	Its answer should be relevant to others concerned about social work or social welfare.

	b.
	It should be answerable by observable evidence.

	c.
	It should be stated in specific terms.

	d.
	There should be only one possible acceptable answer to it.



144.
Ambiguities in the visual significance of single-case design outcomes can be reduced by

	a.
	transforming autocorrelated data.

	b.
	using self-report scales.

	c.
	replication.

	d.
	unobtrusive measurement.



145.
In general, survey research is an appropriate observational method for

	a.
	describing a population too large to observe directly.

	b.
	descriptive and exploratory but not explanatory purposes.

	c.
	the measurement of attitudes prevalent in a larger population.

	d.
	all of the above.

	e.
	a and c only are correct.



146.
Asking subjects "Did your children go to high school and college?" after they told you that they have no children violates which of the following criteria in question construction?

	a.
	Avoid double-barreled questions.

	b.
	Questions should be relevant.

	c.
	Avoid biased items.

	d.
	All of the above are violated.

	e.
	a and b only are correct.



147.
Which of the following was/ were a major force in the growth of program evaluation?

	a.
	early 20th-century efforts to assess the effectiveness of different teaching approaches.

	b.
	the rise of consumer rights advocates.

	c.
	increased interest in the public's return on its increasing expenditures as social welfare spending grew.

	d.
	all of the above.



148.
Which of the following statements is/are true about abstract constructs like prejudice, compassion, or empathy?

	a.
	They exist and can be measured through direct observation.

	b.
	They cannot be measured because they don't exist.

	c.
	They can be measured even though they don't really exist.

	d.
	All of the above are true.

	e.
	None of the above is true.



149.
Working with a very limited budget, Professor Jenner undertook a national survey of 3,000 households. Jenner felt that the topic under investigation would produce a low response rate. What advice would you give Jenner?

	a.
	Use bulk rate for the outgoing mail and postage stamps for the return mail.

	b.
	Use bulk rate for both the outgoing and return mail.

	c.
	Use bulk rate for the outgoing mail and business reply for the return mail.

	d.
	Use postage stamps for the outgoing mail and business reply permits for the return mail.

	e.
	Use postage stamps for both the outgoing and return mail.



150.
Concepts are

	a.
	mental images.

	b.
	empirical measurements.

	c.
	variables.

	d.
	hypotheses.

	e.
	definitions.



151.
Objectivity in scientific research

	a.
	is not a concern in qualitative inquiry.

	b.
	can be assumed when agreement is found among different independent observers.

	c.
	cannot be affected by researchers' vested interests.

	d.
	all of the above.



152.
Professor Shipley developed a new test to measure IQ. He claimed that using his test, someone with an IQ of 180 would be considered twice as intelligent as someone with an IQ of 90 and that someone with an IQ of 90 was three times as intelligent as someone with an IQ of 30. Professor Shipley's test treats IQ as

	a.
	a ratio variable.

	b.
	a nominal variable.

	c.
	an interval variable.

	d.
	an ordinal variable.

	e.
	none of the above.



153.
Which of the following statements is true about problems in client recruitment and retention in experimental and quasi-experimental evaluations in social work agencies?

	a.
	Referring agencies might dump clients that they don't want to serve.

	b.
	Referring agencies might resent having their referrals assigned to a control condition.

	c.
	Clients may resent the use of randomized procedures to determine which service they receive.

	d.
	Referring agencies might be reluctant to refer any clients.

	e.
	All of the above



154.
The field researcher

	a.
	attempts to make sense out of an ongoing process that cannot always be predicted in advance.

	b.
	makes initial observations, develops tentative conclusions that suggest further observation, and revises the conclusions.

	c.
	alternates between induction and deduction.

	d.
	seldom approaches the task with precisely defined hypotheses to be tested.

	e.
	all of the above.



155.
Need for a particular program can be defined in terms of

	a.
	the number of people already using the program in another community.

	b.
	the number of people whose living conditions indicate a need for the program, even if they express no need for the program.

	c.
	the number of people who say they need the program.

	d.
	all of the above.



156.
Ethical considerations are NOT invoked by

	a.
	the setting in which the research is to take place.

	b.
	the kinds of individuals serving as participants.

	c.
	the reporting of the data.

	d.
	the analysis of the data.

	e.
	All of the above may invoke ethical considerations.



157.
By administering multiple pretests in a non-equivalent comparison group design, we can

	a.
	detect whether participants are already engaged in a change process before treatment begins.

	b.
	compare the posttest score to the range and the trend of pretest scores.

	c.
	detect whether improvement from pretest to posttest was a function of statistical regression.

	d.
	All of the above.



158.
If a researcher were conducting a study of women's attitudes toward abortion rights, the unit of analysis would be

	a.
	the individual.

	b.
	attitudes.

	c.
	abortion rights.

	d.
	women's attitudes.

	e.
	society.



159.
The deterministic model assumes that

	a.
	we know what causes what.

	b.
	we are all controlled by the same factors.

	c.
	the causal patterns are simple ones.

	d.
	we can predict outcomes for individuals.

	e.
	none of the above.



160.
For social scientists, an advantage to utilizing official records for data is

	a.
	the reports are very accurate.

	b.
	the data is already in ideal types.

	c.
	the reliability and validity of the data can easily be assessed and connected, if necessary.

	d.
	the reliability and validity of the data are guaranteed.

	e.
	the data can be obtained with limited financial cost.



161.
One of the most important natural abilities that interviewers must have is the ability to

	a.
	dress in a fashion that is similar to the people being interviewed.

	b.
	determine very quickly the kind of person the respondent will feel most comfortable with.

	c.
	rephrase questions in their own words.

	d.
	probe for responses.

	e.
	all of the above.



162.
Programs that fail to attain their formal objectives

	a.
	may be good ideas that were implemented improperly.

	b.
	reflect faulty theory.

	c.
	ought to be abandoned or replaced.

	d.
	all of the above.



163.
Suppose a case management program is established to reduce rehospitalization rates in a hospital and that those rates drop dramatically once the new program is established. We can conclude that

	a.
	another event occurring during the time of the study might explain away the change.

	b.
	the absence of covariation threatens the internal validity of any causal inferences.

	c.
	research has demonstrated an effective approach to practice.

	d.
	causality cannot be inferred because time order was not established.



164.
Suppose a new social casework program is offered to students with high levels of truancy. If those students placed in the program by their families have significantly less truancy after participating than the students who did not participate in the program, then we can conclude that

	a.
	a selection bias might explain away the difference.

	b.
	causality cannot be inferred because of the lack of covariation.

	c.
	the program effectively reduces truancy.

	d.
	some clients benefited, so the program has value.



165.
The questionnaire item "Did you file federal and state income tax reports last year?" with a response set of yes, no, can't remember, other, is an example of

	a.
	an open-ended question.

	b.
	an ordinal variable.

	c.
	a double-barreled question.

	d.
	a negative item.

	e.
	b and c only are correct.



166.
Safeguards against selective observation in science include

	a.
	use of a research design.

	b.
	colleagues.

	c.
	committing oneself ahead of time to make a specified number of observations.

	d.
	all of the above.

	e.
	none of the above.



167.
You are interested in doing a content analysis of the types of merchandise listed for sale in the garage sale classifieds. Your unit of observation is

	a.
	the types of merchandise.

	b.
	the individual garage sale.

	c.
	the newspaper.

	d.
	the classified section of the paper.

	e.
	none of the above.



168.
Which of the following techniques of data collection is MOST likely to make a guarantee of anonymity difficult?

	a.
	unobtrusive measures.

	b.
	All are equally problematic.

	c.
	mailed questionnaires.

	d.
	interviews.

	e.
	secondary data analysis.



169.
Which of the following is POOR advice about recording observations in the field?

	a.
	Always constantly take notes while you are observing.

	b.
	Make at least two copies of your notes.

	c.
	Advance preparation on recording anticipated observations better enables you to record unanticipated observations.

	d.
	Don't trust your memory any more than you have to.

	e.
	All of the above is good advice.



170.
Which of the following is/are threats to the trustworthiness of qualitative research?

	a.
	Researcher biases might distort what researchers perceive or how they selectively observe

	b.
	The researcher's presence in the field might distort the naturalism of the setting.

	c.
	The need to appear socially desirable might result in respondent biases.

	d.
	All of the above.

	e.
	None of the above, since they apply only to quantitative research.



171.
Professor Smith was interested in reporting the reality of the experiences of teenage runaways living on the streets in their own terms. Smith is probably most interested in

	a.
	being a complete participant.

	b.
	ethnography.

	c.
	grounded theory.

	d.
	hermeneutics.

	e.
	none of the above.



172.
To obtain approximate answers about how widespread an outbreak of welfare rights protests is, a researcher would conduct

	a.
	a descriptive study.

	b.
	an explanatory study.

	c.
	a longitudinal study.

	d.
	a trend study.

	e.
	an exploratory study.



173.
The 55-mph speed limit was introduced in the U.S. in 1973. Shortly thereafter the number of auto accidents declined. We can conclude that

	a.
	the reduced speed limit caused the decline in auto accidents.

	b.
	the reduced speed limit may have caused the decline in the number of auto accidents.

	c.
	the reduced speed limit and the number of auto accidents are causally related.

	d.
	the reduced speed limit had nothing to do with the decline in auto accidents.

	e.
	a and c only are correct.



174.
Monitoring questionnaire returns

	a.
	provides a clue about when to launch a follow-up mailing.

	b.
	may enable you to estimate sampling bias.

	c.
	should begin two to three weeks after the questionnaires are mailed.

	d.
	all of the above.

	e.
	a and b only are correct.



175.
Which of the following statements, as currently stated and without the need for rewording, comes closest to being a useful hypothesis?

	a.
	The number of days spent in institutions can be decreased.

	b.
	The provision of case management services should be increased.

	c.
	The greater the number of days spent in institutions, the fewer the number of days spent outside of institutions.

	d.
	The provision of case management services reduces the number of days spent in institutions.



176.
Which of the following illustrates the use of the inductive method?

	a.
	hypothesis, observations, accept or reject hypothesis.

	b.
	generalizations, theory, and observations.

	c.
	theory, hypothesis, observations, generalizations.

	d.
	theory, observations, and generalizations.

	e.
	observations, pattern finding, and generalizations.



177.
A study that begins with observations and then looks for patterns, themes, or common categories is using what method?

	a.
	participatory action research.

	b.
	being a complete participant.

	c.
	client logs.

	d.
	grounded theory.

	e.
	none of the above.



178.
Drawing a judgmental sample

	a.
	enlists the aid of uninformed respondents.

	b.
	requires the development of a quota matrix.

	c.
	results in a sample that has no researcher bias.

	d.
	ensures a representative sample.

	e.
	allows researchers to use their prior knowledge about the topic.



179.
The PRIMARY ethical research issue raised by the Milgram study was

	a.
	the willingness of people to harm others when "following orders" required it.

	b.
	the administering of electrical shocks.

	c.
	the effects of the methods on the experimental subjects.

	d.
	the examination of obedience as a topic for study.

	e.
	the effects of the methods on the learner.



180.
Evidence about practice effectiveness will

	a.
	sometimes indicate what actions NOT to take.

	b.
	will point toward taking an action that the client is certain to want.

	c.
	usually indicate what is effective with every client or situation.

	d.
	always be conclusive.



181.
Professor Milne was preparing to do some unstructured interviewing. Milne knew that you were a research-methods student and asked for your advice. You told Milne

	a.
	to try not to alter the specific wording of questions.

	b.
	to try to use the same probes with the same wording for each respondent.

	c.
	to try not to alter the sequence of questions.

	d.
	all of the above.

	e.
	none of the above.



182.
Research design involves

	a.
	a set of decisions regarding what topic is to be studied.

	b.
	an assessment of one's interests, abilities, and the resources available.

	c.
	a determination of what research methods will be used for what purposes.

	d.
	a set of decisions regarding what population is to be studied.

	e.
	all of the above.



183.
Agency administrators who ask in-house program evaluators to assess their program's effectiveness are likely to

	a.
	promote an atmosphere in which the paramount priority is free, scientific inquiry.

	b.
	give the evaluator complete autonomy in designing the research and interpreting its findings.

	c.
	desire a study that is methodologically as rigorous as possible.

	d.
	all of the above.

	e.
	none of the above.



184.
Which of the following is/ are an advantage of the community forum approach to needs assessment?

	a.
	feasibility.

	b.
	Everyone is equally likely to express his or her views.

	c.
	It is unlikely to be influenced by those with vested interests.

	d.
	representativeness of sample.

	e.
	all of the above.



185.
An example of unobtrusive data collection is

	a.
	an interview with college freshmen to determine why they selected a particular school.

	b.
	a laboratory experiment designed to determine whether people really prefer Pepsi or Coke.

	c.
	a mailed survey designed to discern students' attitudes toward a planned change in the school's calendar.

	d.
	all of the above.

	e.
	none of the above.



186.
An interview with someone with a limited vocabulary who therefore does not understand the questions being asked is likely to produce

	a.
	systematic error.

	b.
	random error.

	c.
	unreliable data.

	d.
	both b and c.



187.
In social work studies testing hypotheses involving the variable "level of social functioning," that variable is

	a.
	an independent, dependent, or control variable, depending on what is being conceptualized and postulated in any given study.

	b.
	always either the dependent or the control variable.

	c.
	always the dependent variable.

	d.
	always the independent variable.



188.
The adage that you must walk a mile in another person's shoes before judging the person is similar to which of the following concepts?

	a.
	verstehen.

	b.
	hermeneutics.

	c.
	ideal types.

	d.
	all of the above.

	e.
	a and b only are correct.



189.
A follow-up study of how the same clients discharged from a mental hospital in 1990 were functioning in 1991, 1992, 1993, and so on through 2000 would be

	a.
	a panel study.

	b.
	a trend study.

	c.
	a cross-sectional study.

	d.
	a cohort study.



190.
Which of the following approaches would be least obtrusive in regard to measuring the impact of the above groupwork intervention on school performance?

	a.
	Observe the student's in-class behavior yourself.

	b.
	Obtain grade, attendance, and conduct data from school records.

	c.
	Interview the child.

	d.
	With the client's permission, obtain videotapes of the child's in-class behavior.



191.
Which of the following procedures for dealing with an unstable baseline might be appropriate in some situations?

	a.
	Introduce intervention anyway, recognizing that a stable baseline is not feasible.

	b.
	Delay intervention until the baseline becomes stable.

	c.
	Both of the above.

	d.
	None of the above.



192.
A study tests the hypothesis that the provision of social work intervention will reduce the school dropout rate. It finds that social work intervention reduces the dropout rate only of children whose families are experiencing high levels of family stress. In this study, what type of variable is "level of family stress"?

	a.
	control variable.

	b.
	dependent variable.

	c.
	It could be an independent or dependent variable; it depends on whether it is stated first or second in the hypothesis.

	d.
	independent variable.



193.
Suppose you wish to measure progress in increasing the amount of time a child in institutional care spends studying as an indicator of the effectiveness of your groupwork intervention. Which of the following approaches most likely would be least vulnerable to reactivity problems?

	a.
	Have the child record the amount of time and report back to you.

	b.
	Show up at the cottage and observe the child yourself for one hour during the same period each day.

	c.
	Interview the child each day about the time spent studying the previous day.

	d.
	Have cottage parents run spot checks in the cottage at different intervals.



194.
If we find that test performance improves as level of anxiety increases from low to moderate amounts and then worsens as level of anxiety increases beyond moderate amounts, then we have found what type of relationship?

	a.
	curvilinear.

	b.
	negative.

	c.
	positive.

	d.
	causal.



195.
A study that attempts to gather data as ammunition for advocating for a particular cause is being guided by what paradigm?

	a.
	critical social science.

	b.
	early positivism.

	c.
	postpositivism.

	d.
	interpretivism.



196.
Which of the following are variables?

	a.
	female, Jewish, high school graduate.

	b.
	occupation, political party preference, birthrate.

	c.
	plumber, professor, dentist.

	d.
	21, violent, poor.

	e.
	none of the above.



197.
Asking a group of experts whether the items on a scale appear to measure what they intend to measure is a good way to assess the scale's

	a.
	construct validity.

	b.
	predictive validity.

	c.
	concurrent validity.

	d.
	all of the above.

	e.
	none of the above.



198.
A researcher must decide in the process of operationalization

	a.
	how and what to measure.

	b.
	the range of variation to consider.

	c.
	what level of measurement to use.

	d.
	the use of single or multiple indicators.

	e.
	all of the above.



199.
In single-case experiments, maximizing the number of measurement points helps by

	a.
	enabling us to change the intervention plan at the point at which we see that no progress is occurring.

	b.
	enhancing the identification of precipitating conditions during assessment.

	c.
	increasing our ability to pinpoint unlikely coincidences and therefore infer what is causing changes in the dependent variable.

	d.
	all of the above.



200.
When evaluating whether programs are achieving their goals,

	a.
	the formal program goals are composed of the dependent variables.

	b.
	experimental and quasi-experimental designs may be used.

	c.
	internal validity is valued highly.

	d.
	all of the above.


